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                                           Introduction  

Political economy is defined by edx.org as the study of trade ,production, and the law or customs of different governing bodies surrounding these topics(mentioned in definition).Jeffry Frieden in an article for the International Monetary Fund characterized political economy as how politics affects the economy and how the economy affects politics.

I used the 11th edition of the main assignment book Economic Development by Michael Todaro and Stephen Smith rather than the recommended 12th edition for this assignment because of availability. The only content missing from this edition is question 16 on the Mita system in Peru and Bolivia by Dell Mellisa. Economic development in itself is purposeless without improving of the human situation measured by the  standard of living, knowledge or education of  the population and health of the population. These are the three facets of development written in the book.

Development forums and discussions can enter a deep blame game loop but here is where an optimistic outlook carries the day. Instead of apportioning responsibility to past rulers or presidents or countries, it becomes imperative to ask what now can done to improve the situation and stop any worsening of  functioning conditions. Of course, lessons from the past need to be learnt. This can involve realigning legacy institutions and creating other institution to perform wanted functions like wealth creation, management and prudent use.

There appears to be a premise in the book that development is not a standalone undertaking and comparisons with other countries is necessary. This can start from using the same source of funds for development purposes. Indeed the World Bank   and International Monetary Funds do have a standardized criteria to monitor the use of their money. Similarly lone lenders like China have alternative ways of monitoring loan use such as the use of Chinese companies as project contractors. The result is that standards start to appear and comparisons can be done among countries.

This assignment of Political Economics involves basic knowledge of Actuarial Science although just by mention which is used to measure benchmarks and rank countries. These formulae are modified with time. A classic example is the Human Development Index (HDI) which had weaknesses and now there is the New Human Development Index (NHDI) as a replacement.

Among the causes of lack of development are geographical factors  such as landlockedness or location in war prone areas.Lack of a sea port is not man-made and cooperation with those neighboring countries that have sea ports is the solution.In terms of conflict ,a neutral positions among conflicting parties helps to win confidence of affected areas.

Certain ideas of this course   seem practical enough to be used to foster development in Zambia and to make me a responsible citizen.
Chapter 2… answer each question with 2 to 8 paragraphs. Give examples from life and your community in your answers.

Question one: For all of their diversity, many less developed countries are linked by a range of common social, cultural and economic problems. What are these problems? Which do you think are the most important? Why?

My answer: The range of common social, cultural and economic problems that link less developed countries are low levels of industrialization,  low levels of living, absolute poverty, underdeveloped financial markets, external dependence,no sea port

                    The most important are underdeveloped financial markets,external dependence and low levels of industrialization.
            

                      Under developed financial markets are important because the discourage the farmer to produce more crops and the entrepreneur to innovate and hence are a threat to the economy.External dependence is a big problem because planning for the less developed country is done where the dependence is and the real need may not be addressed.Low levels of industrialization are a big problem because many things will be imported into the country and this creates a trade deficit.


Question two.:Explain the distinction between low levels of living and low per capita incomes. Can low levels of living exist simultaneously with high levels of per capita income? Explain and give some examples.
My answer: Low levels of living refers to a population restricted access to social amenities and not much wealth.The insufficient social services are usually water,food, transport, health care,jobs,and police. 

                    Low per capita is a classification used by the international Bank for Reconstruction and Development(IBRD)  a  country having a per capita gross national income in 2008 of $975 or less and its $1.0250or less in 2018.

                    An indicator I will chose for low level of living is not much wealth.A high per capita income of $12535 in 2020. 

     Low levels of living can exist with high levels of per capita income.An example is small areas of Czechia. This is adequately explained in this chapter as a communist legacy.In addition certain part of Cayman Islands.This is due to the fact that the financial institutions in Cayman Islands are deemed tax havens and not accessible to the local government.


Question three: Can you think of other common (not necessarily universal but widespread) characteristics of less developed countries not mentioned in the text? See if you can list four or five and briefly justify them.
My answer:(1) poor waste management (2)bad media reputation (3)lack of a fair and transparent resource utilization (4)questionable justice delivery system.
(1)Poor waste management system in less developed countries is mostly the result of a breakdown of the local government system. By local government is meant the council and local authority which does not receive funds from the national budget but is tasked to raise revenue from local operations including waste management. This tasks is outsourced to companies which fail to keep up to the contract and are unable to invest in specialized collecting trucks and protective clothing for their employees amongst other challenges.
(2)Many developed countries have a bad mainstream media reputation and point to international media companies of always showing the worst places in them like unplanned settlements. Then it is proverbial that business magazines and journals advise their readers to desist from investmenting in less developing countries citing the risks and corruption.
(3)It can confidently be said that most less developed countries have enormous reserves of natural resources such as oil, copper, diamonds, gold and forests. The persistant challenge is mismanagement of these resources. Various reasons according to the area can be cited such as war, conflict, unfair markets and human greed. The result is the country is made worse because of the valuable resource.
(4) Less developed countries have the most complaints against political and criminal court judgments or ruling.it is not common for extra-judicial punishment to be done or decisive evidence against high profile cases to go missing which was in the custody of the courts of law.

Question Four: Do you think that there is a strong relationship among health, labor productivity, and income levels? Explain your answer.
My answer: I think there is a strong relationship among  health,labor ,productivity and income levels.
    
                     Health of the citizens and workers enables them to produce goods and services. These goods and services from the laborers sometimes using machines produces merchandise which can be sold.The profit from the sell of these goods or for services offered generate revenue part of which becomes income and some is invested in research and equipment.This is like a bicycle chain and their interlinked.Removal of a part of this link such as productivity can lessen income and lead to poor health and loss of jobs.






Question Five: What is meant by the statement that many developing nations are subject to “dominance, dependence, and vulnerability” in their relations with rich nations? Can you give some examples?
My answer:  Unlike the authors of the main assignment book Economic Development,I will not stick to a common analytical framework and will restrict myself to Zambia as a representative developing country. 
By dominance is meant the development agenda has to have the blessings of the major trading rich nations.An attempt in 2019 to change   the tax regime from value-added tax (VAT) to sales tax is widely said to have been caused by the mines which were then foreign owned.
By dependence means rich nations support Zambia in ways the country is unable to support itself.This includes annual budget support.
By vulnerability means rich nations can impose their will on Zambian government even if the population is against the Imposed direction or move.An example was delaying to close the borders in the early days of the covid-19 outbreak.

Question Six: Explain the many ways in which developing countries may differ in their economic, social, and political structures.
My answer: The economic structure can be free-market like in Zambia or with a socialist bias like Angola or mixed economy like South Africa.
                     The social maybe liberal like South Africa  and Namibia or conservative like Nigeria and Zambia.
                     The political structure maybe presidential multi party democracy like Zambia and Malawi or Autocratic like Swaziland.

Question Seven: What are some additional strengths and weaknesses of the Human Development Index as a comparative measure of human welfare? If you were designing the HDI, what might you do differently, and why?
My answer: The strengths of the Human Development Index (HDI) as a comparative measure of human welfare are that it shows that a low level country can improve its development goals as measured by longevity, knowledge and standard of living. The Human Development Index (HDI) helps to show that differences in income are higher than in other indicators of development. The Human development Index provides a weighted measure of welfare and not discretional description. Yearly changes in the Human Development Index rankings can be compared. The Human Development Index was adopted as the main method by a worldwide international organization the United Nations Development Programme.
    
        The weaknesses of the Human Development Index are that better parameters than health and education can be used but these are chosen to include a number of countries because data on them will be available. The Human Development Index ignores the quality in education and health and focuses more on delivery such as enrolment. The Human Development Index varies within regions in the same country and is therefore not representative.  

Question Eight: “Social and institutional innovations are as important for economic growth as technological and scientific inventions and innovations.” What is meant by this statement? Explain your answer.

My answer: This statement is adjusting the high value placed on technological and scientific innovation over social and institutional innovation in the pursuit of economic growth. The technological and scientific innovation fills the imagination of many when first introduced. Examples is the personal computer. Its a very sophisticated work of engineering. If left in a university laboratory it cannot benefit the research engineers and technicians who assembled it and the owners who financed it .This scenario discourages talent and effort in inventions.
    
        Social and institution innovation will put policy and law to allow the computer owners to put a brand and have rights to their work and profit from it.It needs to be remembered that a scientific innovation has no precedents and so a new law or additional clause to electronic products would be needed to let the scientific innovation to be available for sale to the public including health clearance, safety and other clearances. Thus a technological innovation is turned into a  business success story and grows the economy by export and royalty licenses through social innovation involvement.

Question Nine: Why do many economists expect income convergence between developed and developing countries, and what factors would you look to for an explanation of why this has occurred for only a limited number of countries and in such a limited degree so far?
My answer: Income convergence between  the developed and developing countries is the phenomenon  observed over the last two decades in which  the economies of  some developing countries grew faster than the economies of high-income countries posing to catch up with the high-income countries.This is actually beta-convergence.

Many economists expect income convergence to occur because high-income countries  have strong diminishing returns and technological transfers lowers the cost of investment in manufacturing in developing countries.In addition ,developing countries have high levels of physical and human capital. This capital accumulation tend to accelerates income growth in developing countries.

Income convergence in Asia has occurred mostly in China and India this is due to the difficult institutional changes needed for the fast growth.China had to open the Chinese market to foreign investments. India had to reduce some nationalistic policies.Other countries have not pursued open market policies to warrant the risk of substantial investment such as government takeover,restricting outflow of profit and intellectual right protection.

Income convergence is limited because investment has to continue on a steady rate and this investment has to come from somewhere. In times of global slow down no one is willing to invest so there is a reduction in investment.Then the technological transfer which underpins convergence is dependant on cordial foreign relations. When diplomatic disputes happen this may not be prevalent or may come to a standstill thereby stopping convergence and increasing divergence.

Income convergence is also limited because  some sectors are security sensitive and any developing country wishing to succeed in them needs to do their own research and development which is usually not feasible. 


Question Ten: What are good economic institutions, why do so many developing countries lack them, and what can developing countries do to get them? Justify your answer.

My answer: Good economic institutions are institutions that promote growth of the economy and economic resilience. These include financial investment institutions promoting entrepreneurs,industrial standards and safety institutions, Patents and intellectual property institutions, industrial dispute settlement courts, stock exchange, security and exchange institute, and indirectly elections institutions and civil society instutitions, corporate governance institutions, public- private partnership institutions.

       So many developing lack these because these institutions eventually threaten the interest of the elites,promise to give broader access to opportunities to the public and force reform of on oligarchs and monopolistic companies.These changes are good for the popolutation but it requires the goodwill and unselfish of those holding political power or financial influence.Another  reason is the thought  the unrestricted action of these institutions weaken the state and threaten national security which is more important than any business profit or economic growth because it an existential threat to the  country and lives of all its citizens.

       Developing countries can get them by making sure these institutions and their managers and owners know the security issues and comply with requirement from the state security wings top make them law-abiding institutions and also gradual introduction of these institutions in the country so that ordinary citizens appreciate their value with regard to advancing business.To add on,developing countries must establish these institutions to fulfill a genuine need in the business community and not as a public relation stunt.

Question Eleven: Which measure shows more equality among countries around the world—GNI calculated at exchange rates or GNI calculated at purchasing power parity? Explain.
My answer: The measure which shows more equality among countries around the world is GNI calculated at purchasing power parity.This is Gross National Income calculated at purchasing power parity factors in prices differences among countries and not the market exchange rates only.The value of the Bostwana pula may be higher than the Zambian kwacha but maize would be cheaper in Zambia than Bostwana because its grown a lot.GNI using exchange rates cam miss this situation and lead to wrong policy and  false economic comparision.GNI using purchasing power parity can get the situation on the ground in Zambia and Bostwana right in terms of maize price and related maize products.


Question Twelve:“South Asia has a lower income per capita than sub-Saharan Africa.” Comment on the validity of this statement.
My answer:   I failed to neither  confirm nor disprove this statement and even with the availability of online search engines.
                       One fact that is certain is that South Asia per capital is lowered by population  growth and capital flight due to environmental concerns.

Question Thirteen: What is the meaning of a “colonial legacy”? Discuss any disadvantages and possible advantages.
My answer: Colonial legacy refers to the institutions and other effects which results from the times now independent countries had a foreign power governing it.

         The disadvantage of colonial legacy is that most institutions and companies which were operating doing the colonial past were not for wealth creation but mainly valuable resource collection and transportation.The negative impact of colonialism was that the local people tradition way of life was weakened and inequality persists in former colonies now perpetuated by the new local elites.
        
         The possible advantage of colonialism was that language barrier was broken between the colonial powers and the local people.In Zambia ,most people are fluent in English and this can be a stepping stone to study other subjects which are in English butt have no local expert like mathematics and the sciences.Another advantage is that with a slight modification and improvements the health  structures such as clinics and hospitals can still cater for the local population.Sea ports and airstrips from colonial times can be modernized and used for trade and transport without starting from nothing but building on the colonial legacy.Then the colonial research in such areas as planning and religious life was of very high quality and use that it’s a basis for decision making even post-colonial times.
     




Question Fourteen:State five characteristics of the developing world. Discuss diversity within the developing world on these characteristics in relation to the developed world.
My answer: The five characteristics of the developing world are:   

i. Greater social fractionalizaion.
ii. Lower levels of human capital.
iii. External dependence.
iv. Lower levels of industrialization
v. Under developed markets.
                
             Greater social fractionalization is seen in many developing countries because of differences in languages,cultures  which are called tribes or ethnic groups.This becomes a do or die situation when there are two major ethic groups.These differences can generate conflict and lead to war.Reconcilation commissions are useful to reduce conflict and intermarriges help to some extent to stop wars and divisions.Developing countries with one group like South Korea have made tremendous strides in development.Luckily the main assignment  textbook estimates that most developing countries have about 5 ethnic groups.The USA is a good model for different tribes,races and religious groups to co-exists and have a national purpose.Other countries in the developed world have laws specifically to protect minority groups.

         The developing countries have lower levels of human capital which are health,education and skills.This is because of low school enrolment and completion and high under 5 mortality rate. The developed world is 17 times better in under 5 mortality rate according to the main assignment textbook.Educational standards are low in developing  countries compared to the developing world.From a Zambian perspective I see the gap to be in practical and industrial work and also on academic curriculums emphasizing examination success over application of the knowledge or research and development.

       Developing countries depend on developing countries on a lot of things.These include annual budget support of which a portion of the national budget is expected to be from developed countries for programmes which benefit the local people.This is a very good gesture from the developed world but it develops a dependence syndrome and these funds are diverted for other use.Developing countries have weak international voice on agricultural subsidies and commodity prices.In the World Trade Organisation developed countries set the policies.Developed countries have cultural dependence on developed countries in terms of lifestyles,news and entertainment.This is increasing hard to prove as most developing countries have local movie studios and media houses.

        Developing countries have few industries compared to the developing countries  and most factories are in low manufacturing using simple technologies.The agricultural sector is a major employer in the developing countries  but  lags behind the service sector in the developed countries.The developed countries has high industrialization while the developing countries are raw material exporters.
       Developing countries have under developed markets which have incomplete information between traders and consumers. Institutions to enforce contracts are weaker in the developing countries than the developed countries.Access to credit for business is difficult in the developing countries compared to the developed countries. 



Question Fifteen: Discuss the differences between the traditional HDI (examined in Appendix 2.1) in comparison to the New NHDI formulation. In what ways do you think either one is a better measure of human development? In your answer, consider the significance of computing with a geometric mean, instead of an arithmetic mean. 
My answer: The New Human Development Index (NHDI) uses geometric mean to calculate the development index.In statistics ,the geometric mean gives a more exact measurement of the average.The NHDI maintains the scope of using health,education and income indexes. These are multiplied and a cube root is found for their product to give the New Human Development Index.The New Human Development 	Index does not allow for say raise in income of the population by discovery of a natural resource or loan to compensate for lack of another facet like education.The geometric formulation would show this and attempts can be made to correct the underperforming sector if a high index is sought.The NHDI in its own way summons the country under  observation for action for any increase in rating.  
 
NHDI = H1/3 E1/3 I1/3

Where H is the health index,E is the education index, I is the income index.

          
The New Human development Index uses Gross National Income as opposed to Gross Domestic product.This makes it view favourably countries with high foreign remittances but low local industries.
The New Human Development Index uses the 2007 lower goal post of Zimbabwe as an estimate.And using geometric mean which cannot work with negative numbers its will be interesting how a country which goes below that threshold would be rated.

The New Human Development Index is more mathematically correct by using the natural log to show dimishing marginal(extra) benefit of income rather than common logarithm.Natural log is the logarithm of the constant e which is about 2.718

The old Human development Index used arithmetic mean.The advantage is arithmetic mean works with negative numbers and so an index rating is can be found.The disadvantage is that in statistics ,arithmetric mean is not very accurate as a measure of average quantity.Futhermore,a disadvantage of the old Human Development Index is that a raise say in education can increase the index even as income decline.
HDI=(H*E*I)/3
Where H is the health index,E is the education index, I is the income index.


Question Sixteen: What were the central findings of Melissa Dell’s research on the mita system, and what is their significance for the study of economic development?

My answer: The mita system was a system used by the Spanish for indigenous men in Peru and Bolivia  to work in the mines.
                 
                     Mellisa Dell is a Harvard professor who studied the  mita system of 1573 to 1812.The significance of the mita system is that continues to negatively affect the economic opportunities of of Peru and Bolivia after 200 years.
                        During the time of its occurrence  households had  diminishing consumption and bone related complications.







          





























              My case study on Political Economy:Water of the River Nile


Balancing Economic Development and Human Security in the Nile River Basin
December 9, 2019/Kathryn Urban/No Comments
The Grand Ethiopian Renaissance Dam (GERD) is arguably one of the most important issue facing the African continent today. Concerning water supply from the Nile River, a critical natural resource for ten African states, Egypt, Ethiopia, and Sudan are seeking to re-negotiate decades-long contracts dictating who can pursue development projects on the river.  As Egypt, Ethiopia, and Sudan barrel towards January 15, 2020, their self-imposed deadline for reaching agreement without an outside mediator, it is becoming increasingly likely that President Trump will help dictate the future of Africa’s water supply.
[image: https://chargedaffairs.org/wp-content/uploads/2019/12/GERD-Men-at-Work-e1575817295549-1024x512.jpg]Construction site for the Grand Ethiopian Renaissance Dam (Image source: Jacey Fortin © 2014)
Currently under construction, the GERD was first proposed by Ethiopia in 2011 as a hydroelectric project. The dam would generate an estimate 6,000 megawatts of electricity to advance Ethiopia’s national development agenda, but the sheer size of the GERD reservoir would slow the flow of the Nile River, potentially jeopardizing irrigation needs in Egypt. The two countries are currently at a crossroads with Ethiopia holding fast to its right to pursue economic development opportunities and Egypt fearing for the food and water security of its population.
Furthering complicating the GERD negotiations are the colonial legacies underpinning Nile water usage rights. The countries of the Nile River Basin region are bound by the 1929 Anglo-Egyptian Treaty which allocates to Egypt more than half of the Nile’s annual yield. Furthermore, the agreement grants Cairo veto power over any construction projects on the banks of the Nile or its tributaries — a stipulation that would include the GERD. Ethiopia naturally feels cut out of these arrangements. Although the Ethiopian highlands supply roughly eighty percent of the Nile’s water, Addis Ababa’s colonial status necessarily hindered any input into the 1929 agreement.
Egypt and Ethiopia have been engaged in negotiations around the GERD since the project was first proposed (Sudan, by virtue of its high rainfall levels is less-directly affected). Neither country has demonstrated a willingness to make concessions in order to close the growing chasm, with Cairo dubbing diplomatic efforts “exhausted.” Regional actors now fear that Ethiopia may pursue a military option after Prime Minister Abiy warned that he would not hesitate to “deploy many millions” of troops to defend Addis Ababa’s right to complete the GERD.
As insurmountable as the GERD dilemma seems, the silver lining is that the remaining challenges are largely technical rather than ideological. Both sides agree that Egypt deserves a water allocation from the GERD, although negotiators must seek a middle ground between Cairo’s demand for forty billion cubic meters and Addis Ababa’s counter offer of 35 billion. The countries have held four technical meetings this fall hoping to resolve these prevailing issues, so far without success. International actors are also starting to get involved. Hoping to secure a diplomatic coup for Moscow President Putin encouraged African leaders to take advantage of the Sochi Summit to engage in talks. The U.S. has also worked to carve out a stake in the issue, sending Treasury Secretary Mnuchin to attend trilateral discussions in November. 
Ethiopia, Egypt, and Sudan have thus far insisted on a minimal role for international actors, affirming their commitment to “reach a comprehensive, cooperative, adaptive, sustainable, and mutually beneficial agreement” on the GERD. But after years of talks yielding little progress, water ministers from the three countries, who have been leading negotiations thus far designated January 15, 2020 as their deadline for finalizing an agreement. Failing substantive progress in the next six weeks, the GERD negotiations will become an issue for heads of state. Egypt has already accepted President Trump’s offer to mediate discussions in Washington, and it is likely that Prime Minister Abiy and President al-Bashir would follow suit should the GERD become an issue for heads of state to resolve.
Case study was edited by me the student by removing content  to be suitable for academic purposes. 
…………………………………………………….end……………………….



  Principles to be applied in this case
· The political office holders need to discuss this situation with consideration for stakeholders.
· The fact that water is essential to all along the river nile must be recognized.
· The impact of the dam and environment impact  must be done by neutral experts.
· The main aim must to have a short term and long term settlement of this water dam situation.
· All suggestion to resolve the disagreements must be tabled.
· Characterization of leaders must be kept at a minimal.
· The colonial legacy of this situation should be considered
· The decision on the situation should not disadvantage any country economically.
· Cooperation and good will should be promoted among the leaders and people living along the river nile.


                                                  Conclusion
The local and international news usually covers items by the United Nations(UN) and other multilateral organisations such as Organisation for Economic Cooperation and Development (OECD) and African Union (AU) which uses terms like “developing countries”,”third world countries”,”emerging markets” and “highly indebted countries”.My country Zambia is included in all these categories and I took time to understand what these terms mean.It is comforting to learn from the main assignment text book Economic Development  by Micheal Todaro and Stephen Smith that the term “emerging markets”  is not used because it emphasizes trade and commerce and ignores the human needs and amenities as facets of development among other reasons.The general forward-leaning conclusion and lesson from these terms and meetings which cause them is  that Zambia and other countries in these categories have a standard to aspire to and strive to meet with the passage of time which improves the standard of living of its citizen and even longevity.
This course was important because it gives not only the historical situation causing stagnation in development but also the remedy such as developing countries tailoring the legacy institutions to benefit them and developing local institution to grow their economy.Common hurdles to development such as an elite class controlling political power and natural resources should be limited.
A very strong approach to comparative development taken by the authors of the main assignment textbook is the use of human benchmarks or metrics to comment on development. One such benchmark is gross national income (GNI) per capita. Another is the Human Development Index(HDI).These and other statistics provide a way to rank countries and by extension monitor and evaluate development for a specific country.
Development seems to me as a work-in-progress and as a student my contribution to it could be to rise awareness on what development is, improve literacy by participating in community education and improving the standard of living by safeguarding community assets like water installations and electricity substation by reporting vandalism or their breakdown.
This is an assignment in Political Economy but I deliberately selected one with a bias in economic development which is actually the only thing that keeps a country running. An economic collapse as the potential to cause a change of government or rule out a re-election win. Therefore, a strictly political path to development is at best precarious.
Political Economy is an important course in Economics and as of 2022 and since 1990 the major economic system is free market economics and I assume this is the domain development is to be pursued. Democracy is not a prerequisite of development but the main assignment textbook hints the tenets of democracy are seen to bring in sustainable development. That is development which is resilient and all-encompassing.
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